I have now shifted my focus to first failed area whilst running my enhanced code again
with ChatGPT data. Need to remember there were no issues before enhancing it across
the documentation...
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[75.9, 54.0->54.1, 54.1->53.6, 11.5]

if (!potentialfurtherAscendingBeyondThisStart.equals("") && !(potentialfurtherAscendingBeyondThisend.equals(*"))
&& nums[k+1]<=Float.valueOf(potentialfurtherAscendingBeyondThisStart))

ut.println(potential furtherAscendingBeyondThisStart);
System.out.println(start);

if (potentialfurtherAscendingBeyondThissStart.equals(start))
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sm.add (potentialfurtherAscendingBeyondThisStart+"->"+potentialfurtherAscendingBeyondThisend);
tem.out.println("1973 g " +potentialfurtherAscendingBeyondThisStart+"->"+potentialfurtherAscendingBeyondThisend);
potentialfurtherAscendingBeyondThisEnd=
potentialfurtherAscendingBeyondThisStart="";
System.out.println("!!!1IIIREVERLEREREIREIERNLIETLINTTTNTICURRENT LIST:" + sm);

[75.9, 54.3->53.9, 53.9->54.3, 11.5] 1

I have now executed code again against ChatGPT data and all issues have disappeared.
I will run through all my test cases again in my documentation..




